2-113 59 16 9

1
1
2 100% : "0%9
/
50% | 0.7
1) F
2 7 ,znoq's
D 3 |(1)C, 4R’ 0% |
— ==, @l-e)f >N (@ 0.1 1 10
dt  4zR |\ 7. ) t, 3 (mm)
D R T, 2
t C
a d 1
Ps € v
N No. ) (cm/sec) (cm) (%)
1 0.94 130.3 1.49 1.32
2 2.99 155.1 1.25 0.18
D 3 5.03 191.3 1.01 0.24
N 4 6.98 258.5 0.84 0.46
3 5 9.99 248.0 0.75 0.37
1 8m 1.32%
15cm 30cm 2cm smm
2 4
o = 2.48g/cm3 dg, =0.7mm
CCD
(Photoron ) 2000frames/sec
1 Rouse
0=094 299 503 6.98 y=a C,
9.99DEG 0.18
468-8502 501 TEL 052-832-1151 FAX 052-832-1178

-225-



2-113 59 16 9
15 ——Rouse 15 ——Rouse 15 ——Rouse
| | |
1 1
§ §
= =
05 | 0.5
0 0
0001  0.01lc/ca0.1 1 0001  0.01lc/ca 0.1 1 0001  0.01c/ca 0.1 1
3 0 =0.94° 4 0 =5.03° 5 0 =9.99°
04 04 04
03 r 03 1
02 + 02 +
| .l ﬁﬂ]ﬂmumm
7 (111 A
-4 -2 0 2 4 -4 -2 0 2 4
& &
6 6 =0.94° 7 0 =5.03°
z 50%
C _|(h=y [Lj @) _40% + N .
C, y h-a S0 ¢ e .
20% r
C y h 10% I
— — - O% | | | | |
z Wo /'BKU* u. ( “ghsmg) 0.94 2.99 5.03 6.98 9.99
K ( 04) B8 (DEG)
3 0 =0.94° "
Rouse
p p=16 |Aw, | = 0.8 cmisec E £=0
4 5
@ =5.03° 9.99° @ =9.99° 6 g = 0.94°
Rouse 7 8 6 =5.03° 9.99°
£=16
0=299° p=16 6=698° pf=14
Rouse
6 6=0.94°
9
6
@ =0.94°
E=(w,-W,)/ o 30 40%
WS
W, W, o W
1) 58

-226-

VI 157 2003 9



